H & 0o & A H Al A
PAAT =20IaF LUHSI M2 1T
=M M1
HE: XN SBIA AE
ool NSAHE 2 LR
S - B S9(3H) - NSAY - BES S SR HDS2
NI 12t 751,398 743,430 7,968
= 58,426
- 692,972
KAl SEIA &8 624,666 605,237 19,429
= 58,426
- 566,240
[Z2NE =24 189,058 170,857 18,201
NEAE 24 139,584 125,970 13,614
201 L2 IH| 33,509 38,569 A5,060
01 AFR2eltl 33,509 25,469 8,040
=01 &t 33,509 25,469 8,040
OgBt=2H| 24,419
OD=d0IN Zele A2F(SP-1350R) 9,891
3L 40,0002 +20H 880
-2HIIE 198,000 * 104 198
-IglA E2f Acly 220,000 =174 220
IS 22 I 330,002 1M 330
—EUAT 22 390,50024 1M %1
XX BRU B 868, 0002 1M 858
-Clg2H 621,500 * 1K 622
-3 YWE EiATN 473,000 *10H 473
-dE Jeld KR 1,023,000 * 14 1,023
- Jeld g+ 957,000 *1H b7
-=& Jeld | 715,000 *10H 715
-2 89E F& 1,127,500 & * 104 1,128
& 2 486, 5002+ 1H 457
-Zhd 22 396,000 *1H 39%6
-SI0IAE EH BE 275,000 *1H 215
-0PC =& 968,000 *1H %8
ONAHE SHAIAR 018442 14,000
=Xl 80& *150,0004 12,000
—NI2l= 80&*25,000H 2,000
OXIH 2B HAY 08242
44,0002 128 528
OE=E~ 1,050
OIIRAAR S| Bal2g
70,0002 524331 1,050
ozzIgAY| 8,040
OD=AOIHIRIE SXL4H|
59,500,000 x8% 4,760
ONATHE SHAIAR STL4H|
1,093,333&+3& 3,280
208 R EZY| 1,800 1,800
03 Al F=AHRFAH| 1,800 1,800
=04 1,800 1,800




=N

A1

S XM SELA A
Gl NSNE 2o (9 &8
S - B S9(3H) - NSAY - BES S SR HDS2
OXIZLA WEAL AIZMFZIY|
1,800,000& 1,800
204 2R AH| 22,800 21,600 1,200
2 EZYRZYI 22,800 21,600 1,200
S0 &t 22,800 21,600 1,200
ONREHESFH 100,000 19 = 123 22,800
308 AtXI S SO0IN 81,475 64,001 17,474
13 S| 2SI CHeHE & XA 81,475 64,001 17,474
S0 &t 81,475 64,001 17,474
OXHMICH XIZMEEAIAE X0tz
81,475,000& 81,475
KA HR201s 23t 10,980 10,023 %7
306 £%H2 10,980 10,023 957
01 23 10,980 10,023 %57
20i & 10,980 10,023 957
OXNYHARARA EHZ 10,980,000 10,980
DSAEDI2H 29 38,49 34,864 3,630
201 LEt23H| 18,150 5,520 12,630
01 AtR22teltl 18,150 5,520 12,630
S0 &t 18,150 5,520 12,630
Oget=Z| 15,000
OLEAMEIIENE EL0M=
2002 *15,0000H 3,000
OLEANE E2Z 4 HE
2,000,00021+33] 6,000
ODEAZ HIA YT B
2,000, 0002 *3CH 6,000
o=2g+Y 3,150
OLUEAEIIRZ B dZRRAS
oG 70,0002 x5 H x53] 1,750
OnEAZI 2R Hasd
70,0002 x4 H x53] 1,400
301 LetEEZ 12,000 21,000 A9,000
14 J|Et2 43 12,000 21,000 29,000
20 & 12,000 21,000 A9,000
OQLEAIZI 2Rt SellZE|
40,000,000 *30% 12,000
308 AtXIEHMIS0I™ 8,344 8,344
13 S| 2SUICHEHE & XL EF AL 8,344 8,344
=0 A 8,344 8,344
OQLSAEHI 2N SEEEAIAH KA
CHel 22| 8,344,000 8,344
SEIA A 312,967 312,583 384
KA 23 = EX 287,234 287,608 A374
201 et23AH| 285,234 285,608 A374
01 AtS2teltl 44,976 44,976 0
=0 A 44,976 44,976 0




=N

A1

S XM SELA A
ci9l: DEDHN A (el &2
SA - B S9(3) - NISAY - BaS S S b D=2
oget=2H| 41,826
O8Iz g8 4
70,000 1090 A *43] 2,800
O&JlZ g8 ™A
502 *4,00001*43] 800
=Al, e, 55 2 UM 7,560
—=Al 60,000& x28F A 62 720
= 60,0002 * 102t A x6E 3,600
=5 60,0003 x68f A x93 3,240
OFII2 GRAYM(HE, £21)
80& *355,000& 28,400
oREsE 2¢ 403 «25,0000H 1,000
OENT7L 1,266
N = 50,000 =8 400
=P FSES 90,000& 83 720
S NEE 73,0003 «2H 146
o2g+Y 3,150
OXNEAN AR AS &Ha=E
70,0002 * 158 »33] 3,150
02 2323l 240,258 240,632 A374
20 &t 240,258 240,632 A374
o023z ¥ HAl 240,258
O&IZ2 YUROHHA &8 RE= 189,845
el 430& *315,000H 135,450
-3 2,530 *21,50021 54,395
OFAI2 HE0HHA g B2 6,324
-8t 4302 %10,000H 4,300
== 2,530& 8004 2,024
O=s=E ER0UAM 288 R2HE 40,096
-lut 430 *45,000H 19,350
-S| 2,530 +8,20021 20,746
OLMIN DA S 2ERE2(SII)
2,5303 9021128 2,733
OSI|1*H Bt&g 2,100 x5021* 123 1,260
202 04| 2,000 2,000
01 =LHO4H] 2,000 2,000
S0j &t 2,000 2,000
o220l 2,000,000& 2,000
HIDHAl 2HSE LMY 25,733 24,975 758
101 @I24H| 25,733 24,975 758
M JI2tH22HsSE s 25,733 24,975 758
=0 A 25,733 24,975 758
OH|tAHl 28 LHEHIAIS 25,733
O?:.*EOJ TAHE X2 FHU(W2) 24,099
-l 78,880 x2H x90! 14,199




=N

A1

S XM SELA A
ol SHIM AE (Gt &
S - B S9(3H) - NSAY - BES S SR HDS2
-Resdsd 78,8303 x2 +45! 7,100
-tEY 100,0003 =2 *5& 1,000
- SH| 5,000 x2%H x90 00
241 5, 00021x2Z 0L %00
OLHSE HEXTAHAD) 1,634
-Jl=22 81,660 x23H x99 1,470
-Resdsd 81,6603 x2H+1 164
LHAQE INE=EHOLE AL 122,641 121,797 844
= 58,426
- 64,215
IHEFEIIATAL HRFE 122,641 121,797 844
= 58,426
- 64,215
101 Q14| 48,34 46,902 1,452
= 38,454
- 9,900
M JIZHN22NSES 48,354 46,902 1,452
= 38,454
- 9,900
S0 &t 48,34 46,902 1,452
= 38,454
- 9,900
OMNEFE ELIA 48,34
O &EZA(LZ) 44,598
-Jl=3 81,6603 6% x60! 29,398
= 29,398
-Resdsg 81,6603 x6H 20 9,800
= 6,689
- 3,111
-tEY 100,000 6 H*3& 1,800
- SH| 5,000 x6H x60 1,800
-=4] 5,0002 x6%H x60 1,800
OF A=A (LI2) 3,756
-J|l23 9,860& *4A| 2+ 1H 60 2,367
= 2,367
-Resdsd
9,860& #4A| 2t 1820 789
-tESY 00,0003 *1H+3& 300
- SH| 5,0002x 1 x60 300
201 LEr23AH| 71,387 71,995 AB08
= 19,972
- 51,415
01 AtR22teltl 65,135 65,743 A608




A A1t
g3 XA SE A

>
e

el LARls HEZSOR XA crel &
SN - O9(BIH) - NIRAY - BAS (ggj) @%%gm;ﬁ% =2t
= 19,972
- 45,163
=0 & 65,135 65,743
= 19,972
- 45,163
OgYbt4=2Y| 63,245
OFEHELXIAIE A4 & SEHS HIZ 1,180
-NEFEHEXS 70,000 & x78+ A 490
—EHITANE HAl 30,000 x38+ A 90
-S40t HI& 75,0002 x4l A +23| 600
ONgZe s My
4,000,000 13| 4,000
ONEZIN AES2R 54,265
S11L0IE BOIR AS 248
6,100 *7,900S *1 . 1 53,009
= 19,972
- 33,037
6. 1. J|=& ¥J|8 ZE=48
7,610&*150& %1 .1 1,256
OSAME A S =&
7,610& %30S %1.1 252
OOISIAE J12 AE 222
25,360 *20S %1 .1 558
OZHHOINEEE ARS 1,400
£~ 325,000 *1JH 325
-El(E8) 325,000 =101 325
-EU(Za) 350,000 *2H 700
-HEH 3= 50,000& =104 50
OO0|Z2Al 2SFTE JIAXAN A -2 1,590
-CIANIOH, A& 70,000& x99 630
-OHIIE 120,000 +8% %0
o294 1,890
OSSIIABAAAS BALY
0,000 x*9H *33| 1,890
02 =524t 6,252 6,252
=0l & 6,252 6,252
02222 % HAl 3,612
oRER2 3,612
-NE eI S 4302 #8,4002H 3,612
OA&E&EHIS XY 2,640
OMNEFEDIAAME X T2 (HPWAP
) SXE22=H| 2,640,000& 2,640
202 04| 2,000 2,000
01 2yl 2,000 2,000
S0 A 2,000 2,000
OJNEFEIIA ELXTAI SEOH]
2,000,000 2,000




=N

A1

Yz XN SEUA &S
Crel LhAIQls HEEE0 ZA (el me
SN - O9(BIH) - NIRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
203 HR=&H| 900 900
03 AIHF=RIAR =AY 00 00
=20 Al 900 900
OINEF8ItA TAIHR =&
900,000 900
UM AAH| (M1} 126,732 138,193 A 11,461
olA2HY| 89,472 87,973 1,499
olA29y| 89,472 87,973 1,499
101 el4H| 89,472 87,973 1,499
01 8% 89,472 87,973 1,499
=20 A 89,472 87,973 1,499
OAIZt=E 12,5312 x 172 *35A 2= 128 89,472
Jl2&t| 37,260 50,220 A 12,960
=34 37,260 50,220 A 12,960
201 LEt2AHH| 19,500 21,420 A 1,920
01 AtR2teld| 19,500 21,420 21,920
=0 A 19,500 21,420 A 1,920
OLbt4=Z2H| 2,220
OJI2AMRES 7
5,000 x18Hx12& 1,080
OhlE=s= 15,000& 35+ 128 540
O=AMEX (M) 20,0002 *304k X+ 600
O=&| 17,280
OJ 1228 SA|
8,000&*18H 10 x 12& 17,280
202 04| 12,960 24,000 A 11,040
01 Z2LHAH Y] 12,960 24000 A 11,040
S0 A 12,960 24,000 A 11,040
OJ 228 2UHESE O]
,0002 x18H x32 12 12,960
203 YR =&IH| 3,600 3,600
M4 BASRISL2FAY| 3,600 3,600
=0 A 3,600 3,600
©202! Olat 300,000« 12& 3,600
204 AP AH| 1,200 1,200
01 MHSHR LAY 1,200 1,200
=01l A 1,200 1,200
OMH 100,000& = 12& 1,200




